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Q. 1) Simplify: / G BN
220+80+ [63-7x8+ (13- 2x4)}]
(a) 240 51= 6,

() 260 [163-Li=2
(c) 250 2
(d) 270
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Q. 3) In an examination a candidate had to sit for three
A & C. papers A, B, and C. The candidate secured 75% marks in
Paper A, 80% marks in Paper B, and 60% marks in Paper

C. If the weightage assigned to Papers A, B, and C were

7s) 8ol gol 40%, 50% and 10%, respectively, then find the weighted
= 0 percentage of marks obtained by the candidate, when all
R T T S
JP UXIET H§ U A B C
o loy 5ot et 37| IAfieaR A TR T H 75% 3i®, TuR &t 7 80% 3@ IR
R ;-/ ?ﬁ%so@mm\!‘mﬂﬁﬁ%ﬁgw%mm
; : HUN: 40%, 50% 3 10% ¥, df Inflear gRI
St > N uTe 'ammﬁa&ﬁvmm#m‘cﬁq’fmwm
3vo + Yoo + Go 7 |

A
= 6 d (c) 74%
=.£ = ’]’% (d) 72%
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Q. 4) Rima spends 35% of her monthly income on food
articles and 15% of the remaining on clothes. She saves
40% of the remaining income. If her monthly salary is
Rs.27,500, how much does she save (in Rs. eve month?

Wﬁuﬁ:ﬁmﬁs g‘@ A9 FT
el - 15% PUSI U3 @d Hdl gl 98 afraamso CEIGIR
5‘”"6" uﬁmmﬁa%mzzsooﬂ%.a’r%wﬂﬁ
g5 1> - TRALE (F0 H)? —
L35bpr 25 x% Jh—gé (b) 6370.5
\pp (c) 6277.5
g ﬁ -5 (d) 6170.5




MATHECMATICS By Pradeep Sir

Q. 5) A dishonest sells shopkeeper mangoes at Rs.30/kg
bought at Rs.20/kg and he is giving 800 g instead of 1

kg The shopkeeper's actual profit %ercentage Is:
zo ¥4 el d @i T 3 &t 30

ag;i g _ﬁm’t%azéaoom%mél

a) 37.5%
(b) 87. S%
C )~

(d) 75%
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Ccy M P Q. 6) A person marks his goods x% above the cost price
and allows a discount of 12% on the marked price. If his

(too—> 1) ((100+P1-)  profit is 10%, then the difference between x% and the
percentage is: profit

HHTE W AN d ﬁxesalﬁma{ﬁrcr
S8 | MO m%aﬁ?aﬁm}?u‘um } gz 3 81 3 a1 gl uﬁm
&7 3T

L —— ()1
J_,gpm = 51 (d) 13%
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Q. 7) The time required for a sum of money to amount to
three times itself at 8% simple interest p.a. will be:

8% WIYRY &Te Ufd a4 &t g¥ W Bt =i &t a9
A HAATHI@EHT g —

(a) 20 years/20d4  ——

(b) 35 years/35 94
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Q.8) A pole is 9030 cm long. It is colored saffron, white
and green in the ratio of 6:7:8. Find the length of the

green part of th role

R R S
6:7:8 | T
Ut mm g
L 50
: sUCm
Qo730 = (c) 3480cm “
17° L8 (:l) 3010c':nn
0
39490 A
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Q. 9) R, S and T can finish a work in 20, 15 and 10 days,
respectively. R works on all days and S and T work on
alternate days with T starting the work on the first day.
In how many days is the work finished?

R, SR TTS maﬁm 20, 1saﬁ71n_ﬁ=l’fﬁ11'nm

mi‘-‘lkw g 3R s AR T IPfars
f=T & B wd mwm gl o
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(c) 57/8 9 + F

(d) 50/7
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= 5:_3__‘)
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;“/ “ y — c 3 10) 4.men and 6 women can complete a work i
MM+ewD 8 = L3M+F)rae ¥ while 3 men and 7 women can complete it i e

days. In how many days will 10 wom plete .lt in 10
lem+24yw = 1ISM 3 ;I%ahzs I U &4 &I 8 °"‘é":'£§’1'%‘,%'m" F
= + W 3 - —%ﬁ .
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Q. 11) 6 labourers can finish a work in 16 days. 10
labourers are available, but the work is to be finished by

2 8 days. How many more labourers are to be called to
- l1o04X finish the work in time? e

6*s6 = (! ),,g 6 HoigR U HTH B! 16 2= # 1 & 9Fd §1 10 Ao

IUaH g, dfp ®»H 8 39 ¥ @ &1 81 IHT W W
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Q. 12) A boat covers a distance of 80 km downstream in

8 h while it takes 10 h to cover the same distance
P S D 8_;.—.: 10 kv |l upstream. What is the speed (in km/h) of the boat in still
water?
— U 19 URT & g0 fr it &t gft s e A Ta At 8
LW-s = % - Sk~ mﬁsmaiﬁ:‘gimﬂ g B3 | 39 10 62 @
g1 zria ur=h & Ara @t it / T ®) |1 82
8 = lots
c) 18
oz ) P-
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I""\i i Q16) 'fx+%=9.thenﬁndx4+l
x*
g N u' -
C +-;a_‘=Q—:. = 349 (b)5431
(c) 6561
Wed o (d) 615
L
Q"\\ i
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Q. 17) Two equal circles of radius 18 cm intersect each
Aa other, such that each passes through the centre of the
other. The length of the common chord is

At B o @ 99 99 e ! 39 UPR
N uﬁ':'s}zw m%%qu%ﬁ?;mw%l
|

q-\8 vy e g
(a) 9v27 cm
& (b) V3 cm
(d) 3v3 cm
A &= lgf"';
cx3513
2 2 s eR
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Q. 18) In the given A ABC,DE || BC.Iif BC = 8 cm,DE =
6cm and area of A ADE = 90 cm2, then what is the area
of A ABC (in cm2)?

¢ A ABC #H, DE || BC. ¢ BC = 8 §Hl, DE = 6 9!
%AADEW%?W 90 A 2 2, @ A ABC BT 3FGH

(c) 140
()] 120 qQo

()25
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Loy LP "-La% L >
5‘&)—?‘ = 22X} (3 +x)
A5 = 3+x

X =
22 A

Q. 19) In the given figure, chords XY and PQ intersect
each other at %)oint L. Find the length of XY (in cm).

o v o o
B v e g e
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Q. 20) The side of an equilateral triangle is 12 cm. What

A is the area (in cm?, rounded off to 2 decimal places) of
the triangle? Given:

U GHag BYs ot Y= 12 9 21 Bye &1 dawa @&

R
Arrion. = f‘%_‘_ nele 2§, 2 geEa I a@ quiifea) w22 far mn:
A[3=1.732 + G
= m

T3, eir e
M 7) 63.8¢
)9 32X 36 1 () 68.07
—_— } (d) 65.23
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Red, =2 ~~—
Q. 21) A ball is to be made with inner radius of 2 units
- ':L 1T ( R 3_ '7'5) and outside radius of 3 units. How much material is
S required to make the ball?
2 3134l B daie Bsar 3k 3 gorgdl 3t aedl Bew &
> Yoava1-8 w1 g g 7 o 1 7t o 3 forg et s
3 ATILIHdl gl
= _Ij—rb\ 14 @ 5n
3 (b) 197
= '_L‘J-"A” (©) Zn
b (d)
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Q.22) If acot 8 = - b, then what will be the value of

bcos 8—-asin 6 .
bosorasms . (040 z (PA® - o
b%-a? 9 L |
==
(b) b?% + a*
2, .2
(©) gz
(d)0
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Q=0 Q. 23) Simplify the given expression.

— - fau v ivie #) WA S
‘4 14+sin* 8+cos* @

cos? B+sint* @

(a) 1
(b) 4

] Yo+ ) _ n.g (c) 3




MATHCMATICS By Pradeep Sir

UUses of Funds by School

Q. 24) Study the given pie-chart carefully and answer the following
question. What is the total amount (in Rs.) used by the school for the

ayment?
&gnq -gT¢ BT ATYEP AT B IR FufefEa uy #1391 2
YA & T T d gIRT IUANT 31 71§ $a AR (Fud #) |1 8?2
The entire fund that school gets from different sources is equal to Rs.
10 lakh - -
B! fafiz wiat |/ e arer @1 vs 3ud & RET 81 10 aRG
(b) 2,10,000 — 7 I
(d) 3,10,000

|\ 0,00,%00x 10
|oO

1) l,to,o 0O

———




MATHCMATICS

By Pradeep Sir

Class X Marks of a Student (Values
are in Degrees)

..60
I o I.—'c a’.
Y _8&\4
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Q. 25) The given chart show the marks by a class X
student in different subjects.

fear mar ard fafi fAwal  cudl @an & o3 & 3P
cufar 21

If the total marks are 1800, then find the marks in social
science.

gfe oa 3P 1800 &, T WIS fagm= # i yra Fiferd |

(a) 72 — E—
(b) 360
(c) 350
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